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Note :This paper contains ONE HUNDRED (100) multiple-choice/assertion/
reasoning questions/matching questions. Each question carries TWO (2)

4y :

marks. Attempt All the questions. _
2t U Al (100) oigRsely urdl, WM A ASH rudll Wt .

dMit Wil sl avdil 6, s wstu 4 () am 8.

“Preamble is the key to open the
mind of makers and it does not

mean that preamble can override

the express provisions of the Act.”
The Supreme Court expressed the
above in one of the following cases :

(A) Kesavananda Bharathi Vs.
State of Kerala

(B) In Re Berubari Case -

(C) State of Madras Vs.
Champakam Dorairajan

(D) Golaknath Vs. State of Punjab

“The law which
Fundamental Rights is not nullity

violates

or void.ab initio but becomes only
unenforceable.” This relates to one
of the following :

(A) Doctrine of severability
(B) Doctrine of waiver
(C) Doctrine of eclipse .

(D) Doctrine of lifting the veil

Law-I1

“pyu, B R 4sduvilg Hir
Wi W2l wdl & uig wyu A
ol e Astcuduli-l Gurae
¥ uk, Wal wud udi dl.””
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The doctrine of ecolourable
legislation is based on the maxim

that “you cannot do indirectly what

you cannot do directly.” The law
enacted by the legislature has been
declared invalid on the ground of
colourable legislation in one of the
following cases :

(A) State of Rajasthan Vs,
G. Chawla '

(B) K.T. Plantation Pvt. Ltd. Vs,
State of Karnataka

(C) State of Bihar Vs. Kémeshwar
Singh '
(D) State of Bombay Vs. F.N.

Balsara

Read the Assertion (A) and Reason
(R). Find the correct answer using
the codes given below :. '

Assertion (A) : The aim of having
Fundamental Rights under the
Constitution is to regard such rights
as inviolable under all conditions.

Reason (R) : Legislature of the
country may have a free hand in
interfering with these fundamental
rights when required.

Codes : _

(A) (A)is correct but (R} is incorrect
(B) (A) is incorrect but (R) is correct
(C) Both (A) and (R) are correct
(D) Both (A) and (R) are incorrect
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The Constitution permits and even
directs the state to administer what
may be termed “distributive justice”.
This concept has been indicated in
one of the following :

(A) Art. 38 and Art. 39
(B) Art. 44 and Art. 42
©) Art. 43

(D) Art. 45

A duty has been imposed to parent
or guardian to provide opportu-
nities for education to his/her child
between the age of six and fourteen
by one of the following constitutional
amendments : '

(A) 86th Amendment
(B) 78th Amendment
(C) 73rd Amendment
(D) 74th Amendment

The holder of an office is called upon
to show the court that under what
authority he holds the office. This
relates to one of the following
writs :

(A) Writ of Mandamus
(B) Writ of Prohibition
(C) Writ of Quo Warranto
(D) Writ of Certiorari

Law-II

s ¥4 YRl A @ dw F+l
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(A) MRMBUT syt

(B) Mlasus 2uauuA

(C) Ast—yAs1 unLuay
D) GeaNet uavst
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Match List I with List IT and select
the correct answer using the codes
given below :

List 1
(e} Prisoner’'s Rights
(b) Center-State relationship
() National Anthem Case
(d) Test of Reasonable Classification

List 11
@) Bijoe- Emmanuel Vs. State of
Kerala
(ii) Art. 14
(i) Sunil. Batra Vs. Delhi
Administration

(iv) Sarkaria Commission
Codes : |
(@) (b) () (d)
(A) @) Gv)y @ @
By @ Gu) @ ()
€y @ v ) @
D) G G @ @)
Which among the following can be

amended by simple majority in the
Parliament ?

(A) Art. 54 and 55
(B) Art. 73 and 162
(C) Art. 5, 169, 239-A

(D) Any of the lists of the VII
schedule

Law-II
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10.

11.

Read the Assertion (A) and Reason -

(R). Find the correct answer using
the codes given below :

Assertion (A) @

. The state is empowered to impose
-compulsory services for public

purposes.
Reason (R) :

Constitution of India prohibits
forced labour.

Codes :
(A) Both (A) and (R) are correct

“but (R) is not the correct -

explanation of (A)

(B) Both (A) and (R) are correct
and (R) is the correct
explanation of (A)

{C) (A) is correct but (R) is incorrect

(D) (A)is incorrect but (R) is correct
One of the following Amendments

of the Constitution does not require
ratification by the states :

(A) Election of the President

(B) Amendments contemplated in
Art. 5 and 239-A

(C) Amendment relating to
distribution of legislative power
between center and state

(D) Any of the lists of VII schedule

Law-II

10.-

11.

ey sue (A) 2 s12@ (R) aiall,
{3 wla sisqi Gudior 50 wal
ey glial :

Ry sa4 (A) ¢

Md gl M UYL DA
Al sl At 9.

sk (R) :
g gcdldl 4% suadl eyrd-u

oz gl ulasifad 8.

sis ;

(A) & (A) 31 (R) W B W9 (R)
3 A) +l wal wigd Al
(B) 4 (A) ¥ (R) 4 & 31 (R)
A (A -l wdl wigdl B
(© @A) W B v ®) W &
(D) (A) Wi & & (R) @3y &

A 148 siSua As siuely

AU Y wigieri-l ¥3RuA

"yl | - ‘

(A) Wla-ll 2jzefl

(B) 4%t 5 21 239-A A @ddl
ofeleflu YL

(C) %+% A WU 42q Qs
Al adusliv d@ddl siuelly
YL -

O Al WREve sidua wl

[P.T.0.)



12,

13.

14

Who defined the following :

“Law is a rule laid down for the

~ guidance of an intelligent being by

@ intelligent being having power
over him.” o

(A) Salmond

(B) - Austin

(C) Thering

(D) Savigny

Of whose legal philosophy is called
“Utilitarian Individualism” ?

(A) Jeremy Bentham

(B) Roscoe Pound

(C) Rawls

(D) Sir Henry Maine
The principle of “Social Solidarity”
was propounded by :

(A) Duguit

. (B) Bentham

(C) Roscoe Pound

(D) Savigny

Law-1I
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15.

16.

Law—II

Which of the following are essential

reqmmtes of a valid custom ?
(1) Reasonableness

(2) Consistency

(3) Compulsory observance

(4) Certainty

Codes :

(A) (1) and (2) only

(B) (1) and (3) only

(C) (1), (2) and (3) only

(D) (1), (2), (3) and (4)
Regarding the concept of “Animus

Possidendi” which of the following

statements is not true ?

(A) The animus possidendi is

necessarily a claim of right

(B) The possesgor must intend to
exclude other persons from the
use of the thing possessed

(C) The animus domini need not
amount to a claim or intent to

use the thing as owner

(D) The claim of the possessor must
be exclusive

15.
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~18.

statements is true ?
(A) An antecedent right is a
remedial right.
(BY A perfect right does not
prescribe any remedy
©) A positive right indicates a
. negative duty

- (D) Proprietary rights are valuable

rights
Match List I with List IT and select

- the correct answer using the codes

given below the lists :
List I

Fuller

Friedman

Stone

(a)
(b)
(e
(d) Maine

List II }
Law in a Cha.ngihg Society

Hur_nan Law and Human
Justice

(&) The Momﬁty of Law
(iv) Ancient Law

@
@)

Codes :

@ B @ @
A 6O G G G
B) G @ @ G
© G G (v Gi)
M & G G @)

Law-II
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19.

20.

Two statements are given below.
One is Assertion (A) and the other
is Reason (R). Examine these two
statements carefully and select the
answers to these items using the
codes below :

Assertion (A) : Custom is superior
to legislation. |

Reason (R) : Custom is followed

gince times immemorial.
Codes :

(A) Both (A) and (R) are individually
true and (R) is the correct
explanation of (A)

(B) Both (A) and (R) are individually
true but (R) is not the correct
explanation of (A)

(C) (A) is true but (R} is false
(D) (A) is false but (R) is true

The Supreme Court awarded
‘Exemplary Damages for Misfeasance

by Public Servants’ in :

{A) S.P. Gupta Vs. Union of India

(B) Indira Sawhney Vs. Union of
India

(C) Common Cause, A Regd.
Society Vs. Union of India

(D) Shiv Sagar Vs. Union of India

Law-I1
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21.

22,

In which of the following cases the
Supreme Court observed that “free
legal aid and assistance is a right
implicit in the mandate contained
in Article 21 relating to protection
of life and liberty of a person.”

(A) Maneka Gandhi Vs. Union of
India

(B) Bandhua Mukti Morcha Vs.

Union of India

(C) Ratlam Municipal Council Vs,
Vardhichand |

D) Hussainara Khatoon Vs, State
of Bihar

“Equity as a legal concept is a direct

emanation of t,_he idea of Justices.”

This was observed by the

International Court of Justice in :
{A) Continental Shelf Case

(B) Guarantee Trust Co. of New
York Vs. U.S.

(C) Bank of China Vs. Wells Fargo
Bank and Union Trust Co.

(D) None of the above

Law-I]
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23.

26.

Law-1I

When two or more states exercise
rights over a territory, it is called :

(A) Vassal State

(B) Federal State

(C) Confederation

(D) Condominium

Nottebochm’s case is relatéd to :
(A) Recognition

(B) Asylum

(C) Nationality

(D) Sources of Law

The judges of International Court
of Justice are elected for a term
of :

(A) 5 years

| (B) 9 years

(C) 6 years

(D) 3 years

Security Council coﬁsists of :
(A) 10 members

(B) 15 members

(C) 8 members

(D) 3 members

23.

24.

25.

26.
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27. The decisions of International Court

of Justice

(A) Create a binding general rule

of International Law

(B) Does not create a binding
general rule of International

Law

(C) Sometimes create a binding
general rule of International

Law

(D) None of the above

. Given below are two statements.

One labelled as Assertion (A) and

other labelled as Reason (R). Match
the correct :

Assertion (A) : Settlement of
* International Disputes is done by
United Nations.

Reason (R) : UN is a Court.

Give correct answer from the

following codes :
(A) Both (A) and (R) are true
(B) (A) is true but (R) is false

. (C) (A) is false but (R) is true

(D} Both (A) and (R) are false

- 14
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99. Assertion (A) : International Law

30.

31.

is not potent enough to restrain a

powerful state which has no respect '

for public opinion.

Reason (R) : Sanction behind it is
weak.

Codes

(A) Both (A) and (R) are correct and
(R) is the correct explanation

but (R) is not the correct
explanation

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Uniform Civil Code in India is :

(A) Fundamental right

(B) Fundamental duty

(C) Directive principle

(D) Both fﬁndameni;al right and
fundamental duty

If a Muslim youth marries his wife’s

" gister, then such marriage is :

(A) Sahih marriage
(B) Batil marriage
(C) Fasid marriage
(D) Muta marriage

Law-II

 (B) Both (A) and (R) are correct

16

29.

30.

31.

Gy s8 (A) ¢ MR Helell 2iUER

53l oAl AL vizslaal W2
BlidRA stugl Aeal uan vl

S22 (R) : Al wesenq Wls o1 $4AR
8. | |
8s :

@ ¥ (A) (R) WA ® %2 (R)
A wall il 8

~(B) #A (A) adt (R) ¥t 8 ¥ (R)

ARl wrogdl A4l
(€C) (A) WY & W (R) W 8
(D) (A) Wi & wa (R) Wy 9
eucHl WA wANS Q1R
(A) oy s
(B) %A%4d §3%
(0) waeds Rueid

(D) o Yaod sEAN A Huejd
§3%
A 5 YRan yas A ueldl adq
WA @ s dld @ 8.
(A) udl @
(B) ouldd @on
(C) &ifAe don
D) Yt 4o
[P.T.0.]



33

34.

marriage.

(A) Six months
(B) Two years
(C) One year ;

(D) Four years

The constitutional validity of

Section 9 of the Hindu Marriage Act

was upheld by the Supreme Court

in :

(A) Harvinder Kaur Vs. Harmender
Singh

- (B) Sareetha Vs. Venkata Subbaih

(&) Dhaﬁnen_dra Vs. Usha Kumari

(D) Saroj Rani Vs. Sudarshan

Kumar

In Muta marriage, if the marriage
is not consummated, the wife is
entitled for :

(A) Only half of the dower
(B} Full dower

(C) Dower as per the discretion of
the husband

(D) Not entitled for any dower

Law-I1

16

32. No petition under Hindu Marriage 3;2. {85 a1 @z s
' ‘Act can be filed within '

33.

........

Blel AW - 45 ud,
(A) 6 ule-u

B) 2 ay

(C). 1 ay

@) 4 ai

AAeu U4l s Jami Rg @l
a;m—é ull t»lmeﬂq'é‘mm& uql2y

Meldd gLl undd Heyf ?

(A) s[er SR [, e8 Ry
(B) ARw [, 452 yass

©) ul~ [ Gruguil

(D) AUy A QA yed g2

3&1‘ A3l A @ wRyel - uly

Sl dl uell L, TEREIIE I
(A) WA Al HSH oyt
(B) yel Aer

(© ul-t [ds wquiz A

D) AR W2 ese1r «l



35.

36.

| (a)

)

(B @)

When the marriage is dissolved by
death of the husband and the
marriage is not consummated. The
wife has to observe Iddat for a period
of : :

(A) Three months

(B) Four months and ten days
(C) Need not follow Iddat

(D) Four months

Match List I with List II and

indicate the correct answer using

‘the codes given below :

List 1 _
Ashok Hura Vs. Rupa Hura
(b) Bipin Chandra Vs. Prabhavati

()
India
T. Sareetha Vs.
Subbaih

List II
- Restitution of Conjugal Rights
() Uniform Civil Code
(i) Desertion
(iv) Divorce by Mutual Consent
ques :
(a)
®

(d) Venkata

)
(iz)
(tid)
(iv)

@i

(c)
(EiD)
(&)
(&)
(@)

()
(iv)
(@)
(i)
(&)

(A)

<) O
D) Gv)

Law--II

Sarla Mudgal Vs. Union of -

17

35.

U WR Yy 4dd G wA @
YRyl 4 add iy cul el
w2 Sedd wad s

(A) 3 H[3-L
(B) 4 1R »A 10 Ran
(C) Sedq wean 1 59

(D) 4 s

EL T 2 4el I A A vudi. 12
ALAAL SSHIHl wRAL wasL 2L

wel 1

@ U5 g @ 3w g
@) Buluqig Q. uenadl
(©) W ¥eda [A. euad A4
@ &. adla @, dsa yous

o wel 11 |
@ @ efid YU
@) Wit ualRs Wil
(i) el _
i) W Aufadl adst
8S : |
(d)

@ ® ©
@A @ @ @ G
® @ G @ O
© @ G G G
D) G G O @)

[P.T.0.)



37. A Muslim ﬁfe can re]jx_lqu_ish her

Mahr .

(A) Whén she is minor

(B) When she is not less thﬁn 18
years of age |

(C) When she is not less than 15

years of age -

(D) When she is not less than 21

years of age

38. Which of the following will not fall

under definition of dependants

according to. Hindu Adoption and

Maintenance Act, 1956 ? Assume

they cannot obtain maintenance

from any other source ?

(A) An illegitimate daughter until

" ghe is minor

(B) A widow daughter

(C) A widow as long she does not
remarry

(D) Unmarried ‘daughter of
predeceased son of predeceased
son '

Law-I1

18

317. A5 YR well A su AR

As wg 53 w3 B -

(A) %f-tti A4 Wl ey

(B) 3 sl 18 el 2(iedl G-l
1 Sily |

(©) 2R d 15 4l aidl Gu-l
4 g

(D) 2R o 21 qnm igdl Gu-l

4 gy

. DA 19 sy R cus Rt »A

vl Rl 1956 -l suldidl
o R 20Q ? well dl 3 Qe

oflon wtidell vuaetizifl + ad u3.

A) w2 Yoll oui ¥l w2 8

(B) »s Qg yol

©) s Raa oui 3l @t - 53

(D) wddl A ade €lspu-u

Asaell w4 Yoll



"39. During judicial separation, the :

(A) Parties continue to be husband
and wife and may or may not
suspend the marital rights and
obligations

(B) Parties continue to be husband
and wife but marital rights and
obligations are suspended

(C)_ Parties are not hushand and
(D) Status of husband and wife is
decided by the Court

. Consider the following propositions.

Select the correct answer using the
codes given below : '

(1) Ifthe frustration is self-induced

it can be a defence for breach
of contract.

(2) Self-induced frustration can
- never be a defence for breach
'_of contract.

(3) The burden of proving that
frustration was self-induced is
on the party who is alleging
that it was so induced.

Codes :

(A) (1) and (3) are valid
(B) (2) alone is valid

- (C) (3) alone is valid
(D) (2) and (3) are valid

Law-II

19

2 WdRa

D) (2 WA @) Ay D

39. w5 aoldl s :

(A) wasi w2 vl 8 B A
aov eiefl sl 3 wassdlai

Higs 53 ud wuar - y@ 530
w¥

B) wasidl YR A uell a3 )
6 Ui adodl sl ud
el Hgs ud AU d

(©) WasIl WA 1A el el et

M v ¥ uell-t ewm vslad.
LoAsfl 53 |

. ARl Mcue w3 QALL. 5SS+l Aoy

53 AL weL By

(D A Agaal @R €ld dl R

- SRAGPLAL R i 4 w3,
Fissaar  suidy
SAGHL s A 45 U

@) s a0 odl A whid
sl ou A varll B ¥ 83
8 ¥ w Rsadl Al sdl
85 ; | ' |
(A (1) w4 (3) WAL D
(B) W (2) Wy &

© WA 3) Wy B

[(P.T.0.]



41.

- {a)
®

@)

Match List I with List II and select
the correct answer from the codes
given below :

List I
Contracts of utmost good faith

Agreement where object is

uncertain

(¢} Contracts opposed to public
policy
(@)

Intention to create legal

obligation
List II

Agreements hostile to friendly
states

@)

Essential_ element for valid

contract

(ix) Contract of Insurance

.(iv) Void and unenforceable

Codes :
@ ) © (d
A @ @y @ )
By @G G G ©
(O @) Gv) @ . D)
M O @ @ @
Law-II

41.

20

Wwel T A gl I 08 1vial, 13
AL SiSHidl AL FAULL UYL

el 1
(@ wuallRs weoua-u-l 52U
®) uvdl wul &g R 8
© AdARA Rgu su

@) stetflu aqoel Goll sai
AAY

weél I

@ Bt wd wd goiriaeal
Al

(D) ML 53U LAV dedl
(i) bl s

(iv) e A ) s31 usy dal

siS :

@ & © @
A @ @ @ G
B) G) Gv) @) @
© G G @ G
D) @ @) Gi)

()



42. The defence of “non est factum” is

available to the contracting party

~ who has committed mistake as to

~ the - |

(A) Nature of._contract _

(B) Identity of the other contracting
party |

(C) Quality of the promise made by
other contracting party

(D) Quality of the subject matter of
the contract

43. A person who sues for damages

under the law of contract :

(A) has a duty to mitigate the loss
consequent upon the breach of
contract

(B) has no duty to mitigaté the loss
consequent upon the breach of

contract

(C) can claim damages for the sum

inclusive of the amount of loss

due to his negligence

(D)} has full diseretion in the matter

Law-I1

21

42.

43.

Al B2 35237 - oA d U

wasRA Gudsy @ ¥ ojd 53 in

A

@) suaddl ugla

(B) s ol uasn-Al vilaw

(C) S o7 wasR gl »ulen

a-i-l y|maxl

(D) s [@Avyad-l amant

5 SIUEHL P51 AR R A
‘Al e didl ad 3 F

(A) s100Ul Beurt Yol st
2igol sl 6% 8

(B) 530l Geue~t Ydl A -
gy sl 3% el

(©) 21l 53 a3 3 Andl 6w g1
Adl o sALA ana-fl 24
il §dl AsA

(D) 20 suotddl Ay RS Al
3
[P.T.O]



44. The inadequacy of consideration  44. SeIAl Y gL 1A%+l wYddl
will be taken into account by a RaY]l wsy :

Court of Law : : .
(A) U3t BYIR idlg

(A) When the- pron';lisor performs
o -y 53

his promise
' : (B) %R dt »uAUR . Al Sl
(B) When the promisor expresses

return for his promise 54 M9 B Widit 4y
(C) When fraud, coercion or undue (C) AW 5AUIAL ASUL 542,
~ influence in the formation of oaeti] v vieuedl aogal

cont;-act is pleaded sl s sudl iy

D) Al t the discretion of th
M) Always at the on of the @) ~waiaa- RAs-
court

45. The decision in Mohori Bibi Vs. 45- ls¥lofloll [A. qaueix Wi Ysiel

Dharamdas Ghose is related ‘to

doifa © :
~ the : :

(A) Undue influence A) 2988dl aga

(B) Acceptance and its . .
o (B) s A d-ll AR
communication

(C) Offer and its communication (C) Wl i d-L AR

(D) Capacity of minor to enter into

D) Wl s sl anay
contract

Law-II 22



46.

47.

(A) ()

Which one of the following has been
laid down as the basis of
responsibility by the rule in
Rylands Vs. Fletcher ?

(A) Conditional liability

_(B) Fault liability

(C) Insurance liability
(D) Strict liability
Match List I with List IT and select

the correct answer using the codes

given below :
List I
(@) Act of State
(b) Consent
(c) Statutory auﬁhorit_y
(d) Act of God
List II

| (f) Nicholas Vs. Marsland
(#) Metropolitan Asylam Dt. Board .

Vs. Hills

(iii) Hall Vs. Brookland and Auto
racing club

" (fv) Buron Vs. Denman

Codes :
(@ &) ) ()

Gip), G 6

B O @ G G
© @ & O G
O G G GG 6
.Law—II '

46.
Coauoetld ek dd13 QA-unidl
84 [alRd sl 2da 8 ?

47.

wud-s [A. sdard Hyn dsm

(Aa) aad wausl

" (B) M@ FUelel)

(C) dl wausietl
(D) 58l et
Wl T A wdl 1T 08 Avumel s

S 516 AL s AL g
| MY ' C

wd 1

(@) UFUY sAU

() ¥l
@© AR5 um
@ 2l s
| 0l I
® Rsian @A, wdd-s

@) AR Auuan syd ois [A.

(R

(i) eid [A. osd-s A iidl Rl
sas | |

CGy) AU @A, S

sis : _

L@ B © @
(A) Gv) G G ®
® 6 G G @
© @ @ 6 G
@ @ @ G O

[PT.0]



48. A poisonous gas leaked from the

storage tank of fertilizer
manufacturing industry of
defendant due to a wind storm
- resulting in serious breathing
~ problem and eye injuri-es to P and
Q who were working in the industry
.and S and T who were residing in
the surrounding area. P, Q, S and
T claimed damages from the said
industry.

(A} Industry is liable to compensate
P and Q only

(B) Industry is hable to compensate
'8 and T only

" (C) Industry is liable to compensate
P,Q Sand T

(D) Industry is not liable as leakage
occurred due to Act of God

. The right of a person to recover
damages for nervous shock
sustained while he was not present
at the scene of the grievous injuries

“to his family but comes upon them
at an interval of time and space was
for the first time recognized by the
House of Lords in England in :

(A) Page Vs. Smith

- (B) Bourhill Vs. Young

(C) Alock Vs. Chief Constable
(D) Mcloughlin Vs. O’ Brain -

Law-II .

48.

49.

24

wid (Khatar) ei«ila-udl ulaagl-l
Su(ldi 22l 2isluiadl va--u
qraistd dld 3 ayd and %y
%l d Su-lHl s SAURL P viA Q
dul $udl-l sl Rading
L S A T A rau-lFand sl
asclls da sivd Sa uegidll. P, Q,
S ¥l T 3 uex $u-l Qg auda-i
glal sul. |

(A) su-dl Mzt P ud Q A audR
AL YUMELR

B) $ull ML S 4 T 4 dad
YAl FAGELR

©) $%(l P, Q S ¥ T A and
WAL FNOEIR

D) $4-l AR suual Faoel? 4l
518 3 vadq arudg Bdlsa
8 |
il gde 2dd i Salinl
ol UM SLR L SIU U S AHY
gl d A vl alidaq 4dg
WS AU Ged 45U dAdR
qaqdii Bsq Sod-sdl 18y
g elSH Al UM quid
Al Ml 2u\l.

A A [, »{y

®) qiRd . ¥

(€) ddls Q. s siug
(D) Asalfdq @, 20’ sua-



50. In case of negligence, the “standard

51.

of care” is generally used in sense

of :

(A) The foresight of an adult man

(B) The skill and foresight of an

average person of prudence

"and competence

(C) The care taken by an

intelligent and prudent man

(D) The skill and care of a qualified
person

Which one of the following sets
correctly identifies the specific
defences available in an action for

defamation ?

(A) Privilége, truth, fair comment
(B) Pmnlege, mistake, fair comment
(C) Truth, mistake, fair coxﬁm;ent

(D) Truth, privilege, mistake

Law-I1

50.

51.

(B)

GUaAL Bl “aserddd wua”’

Y

#uaw. Ad ........ A wiEii Qay
(A) auys ARl Qdgfe

Ay, ofe A amdl aiadl

-l Ryad #{-1 ddgfe
(© il A ea Aaldd gl
 aaddl saw
(i)) astd qrladl @aBd-l Ry
2 S

ogAal-l slai dadl Alne aad

4 DAunidl 54 As§ Y © ?
(A) [Qilﬂtfﬁ;lé,' Ac, wpell éL!u
B) [N, od, awell 2ls
(C) acﬁ, o, uell st

D), Ue4, RAw@s, ¢4
[P.T.0.]



52. Answer the following using the

codes given below :

As per Consumer Protection Act
1986, unfair trade practice

includes :

(i) Falsely represents that' the
goods and services are of a
particular standard, quality or
- grade.

(i) Falsely represents any re-built,
second-hand, renovated,
reconditioned or old goods as

new goods.
(iii) Represents that the goods or
services have sponsorship,

performance,

characteristics, accessories, uses

apprm-ral, :

or benefits which such goods or

services Ido not have.
Codes :
(A) (i) and (ii) are correct
(B) (i) and (iii) are correct
(C) (i) and (i) are correct
M) @, (i) and (i) are correct

Law-II

52. 1A+t Ga {1 2udal sis-1 nuidL

s 2

AlLS YA&L 4l 1e¢s W

Aenzell Awa wami wdg @ :

G) wig mddlsw ¥ a igal
AU W AR, YAddl vaq
et 8.

@) sy YiRl, o, -4,
Yingd »mal anial wa g
8.

(i) Y si 9 5wy wuq) aqn»&_
Alorwd, yam@, wed, qaa
wual diot 43 & A 3 v

-8 «dl.

$iS

(A) (@) 2 (@) WAL B |
®) O 2 (iii) %ﬁ-ni 3]
(C) | () L (g6) WAl ;3

M) ), Gi) A i) WAl B



53. Mark the correct statement : | 53. wy [Qur ogRuLall

(A) In tort, the damages are (A) ugal, sl Rad gia 8,
liquidated, while in contract the - oqy1d sl sl wilAud
damages are unliquidated _ sy 8 ‘

. (B) Both tort and crime are public (B) Ui A UYL 6l A8R
wrongs | : &‘*{6& &

(C) Contract is right in personam  ~ (0) AL ABd oius wAHN &
whereas tort infringes right in g1 wmugcd A adeius
rem | wfasi-l ool 8

() All the above (A), (B) and (C) (D) sy (A), (B) ¥ (C)

 b4. ‘S’ while travelling as a.passenger 54. 3Qui 3l sacdl avid @ A el

in a railway, was injured on account AesAL S128 $2 usiA B B+

f the negli f the railway, an i
o negligence of the ‘W‘_‘Y W2 yadl af usd :

action lies :

(A) &5 AHd sl 5%
(A) Only for breach of contractual

duty of safe travel AL B qs,g

(B) Only for the tort of negligence (B) §5d GUAIAL MUY Yed
(C) For both, i.e. for breach of (C) oinl, 5UIYY gqlqgl_q_‘l.ﬁ_o{al
contractual obligation and for L A vuged s oey

the commission of tort .
D) dgcu-il slal 2l s1ReidH
(D) ‘S’ must exercise an option to sl 2:[ s )
: C snidls &Y Y& £l
either sue in tort or for breach . ) i
of contract ' W

Law-II 27 [PT.0]



5d.

57.

Use of violence by a member of an

assembly of five or more persons in

- furtherance of common object, will

constitute :

" (A) Aﬂ'ray.

(B) Assault

(C) Riotihg |

(D) Unlawful Assembly

Which one of the following is not

- essential for offence of theft ?

(A) Dishonest intention

(B) Removal from possession

(C) Without the consent of the
person in possession

D) Inimovable property

‘A’ finds a watch on the floor of a

State Transport Bus while he was

leaving as the last passenger. He

picked it up and put it in his pocket

instead of returning it to the state

transport authoﬁty. Next day he

sold it. A is liable for the offence of :

(A) Criminal breach of trust

(B) Extortion

(C) Theft

(D) Criminal misappropriation

Law-1I

55.

56.

57.

28

Ui 3 vl an? B 2ye-it

s UG GRS g w2 R
seendoy

ooooooo

(A Gewd

(B) gudl
©) €30
(D) @34 WY

42 U 56 N AL Y-t w2
s¥uld ] :

(A) W5 >uny
(B) so4id]l 219

(C) % Al sl & Al ey
aQd1R

(D) W (esd

‘A AU UL WR sl i Hea
Qo{l a3 Gardt adt cnl As yldwyg
Wd 9. dail dut Gwel 4wy
WRagHl Al ayal«l
29U Wil Wi 341 & 8. ol

CRaA AxA alsqin d=2 ), A ED)

Yl M2 FUNER & 7
(A) YtlRd Reuusis
(B) AAmeigdn

(C) iRl

(D) Jwldd g uudt



58.

. 69.

60.

©)

Kidnapping from lawful
guardianship under Section 361 of

IPC can be :

(A) Of person of unsound mind

(B) Of person under 16 .years of
age for male

(C) Of person under 18 years of age
for female

(D) All of the ahove

To claim total immunity under

(A) 10 years
(B) 7 years
(C) 12 years
(D) 14 years

Assertion (A) | Crime is
punishable because it is provided in
the law.

Reason (R) : Crime is revolting to
the moral sense of society.

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

(D)

Law-II

58.

59.

IPC -1l s4M 361 i 44 u&wl
GsAlio si-l ad a3 -

(A) ol HowAL M3
(B) ydi w2 16 arul A 23

(C) Wil &_ué 18 azadl A
A4[3d

(D) G-l «ay

slretdl all sau 82 Ui Ayl Yia
W2 ouasd GuR ....... ol el udll

QAT

(A) 10 ad
B) 7 ad
©) 12 a
D) 14 ad

su-1 (A) 1 Jrll AN SiY B 519

3 A slusH veuail v 9.

© 510 (R) & 3+t uw-l dlas

dAdeudl sdnad .

(A) 6 (A) 27 (R) 0 8 2 (R)
2 (A) -l AR Al 9

(B) ¢if (A) 3R (R) A1t £ wat (R)
2 (A) L ARl vaw -4l

(C) (A) WY B Y (R) Wi &
@M (A) wig & wa (R) A3 &
[P.T.0.)



61.

62.

X’ with a view to murdering Y

enters Y’s bedroom when Y is out

‘of town. X is guilty of :

(A) _Murder

(B) I:Iouse trespass

C) Attémpt to.murder _
(D) None of the above

Right of private defence is not

available :
(A) To the aggressor
(B) To the person who is attacked

(C) To the aggressor against an act
done in private defence by the
person attacked

. (D) Only (A) and (C) are correct

‘Which one of the- following is not
~ a ‘Public Servant’ ? |

(A} Liquidator
(B) Civil Judge

(C) Member of a Panchayat

assisting a court of justice

(D) Secretary of co-op.érative

 society

Law-II

30

61.

62.

63,

K YV el sadl Seell Y -
Aszidl MAD 3. 2wl YV Ao
8. X yu B (Anifl su
He ?

(A) v

(B) 43 A5z wda
(C) vimirl na
(D) GUAsduidl siS AR

Had adld-t es 1A-ud (maf_»q

"yl :

(A) gualar

(B) ¥ AUld GU ALsMR sUM
iy 8

(C) gHAMIRA A5 Naw st w2 R

AU s s3d Aalia wd
vad el 5 iy

(D) %A (A) w9 (C) AL B

A2 A0 S ndz Aas o ?

(A) &SR3

B) Rarll sl

(C) ~qHUHYA HEE $cdl MALUAAL

-

doyy

(D) sl-2q3da W 1@



64.

65.

Reason (R)

nght of pnvate defence of the body -

extends to causmg death has been h

dealt with under .................
(A) Section 100
(B) Section 97
(C) Section 101

(D) Section 102

Read Assertion (A) and Reason (R) -

and select the correct answer using

- the codes given below :

_ Assertion (A) i State Cooperative

Unions were_held to be industry

under the 1.D. Act.

: Co-—operatives fulfil

the triple test enunciated in

Bangalore wotor‘- supply case.

Codes:""

(A) Both (4) and () are incorrect

(B) (A) is correct and. (R) is tlie
~ correct explanation to (A)

(C) (A) is correct but (R) is not the

. correct explanatlon to (A)

(D) (A)is _correct and R)is mcorrect
Law-II

31

- 64.

ol st %55 AL ke ﬁ‘m‘“‘.._

= ?4,%[1 [Q%Qd 1S W3 d ouadly srel '_

65.

(D) A) Q{lﬂ

il sl PAdl 9.

........

(A) $64 100

(B) sdM 97

(C) 543 101
D) 54 102
REURLE &) A a2 ® el
sisell Guaiol s AL Faler Al :

Gy sas (A).- .8l Ase dsu
w2 3mmv_aq YRy A @am a3
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66.

67.

68.

The First Come Last Go, and the
Last Come First Go rule is
associated with :

(A) Closure
(B) Transfer of Undertaking
(C) Strike.

(D) Retrenchment

The workmen’s representative on
the Works Committee :

(A) Do représen_t the workmen on
policy matters only '

(B) Do not represent the workmen
for all purposes

(C) Do represent the workmen for

all purposes

(D) Do represent the workmen for
matters relating to wages only

Right of a workman for receiving

" lay-off compensation is subject to

fulfilment of conditions stipulated
under Section 25-C of L.D. Act. Lay-

off compensation cannot be claimed
by a workman if :
(A) His name is born on the muster

rolls

(B) He has completed not less than
one year of continuous service

(C) He has been laid down for less
than forty five days

(D) He is a badli or casual workman

Law-II
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69. Match List I with List IT and select

the correct answer using the codes
given below :

List I
(@) Recognition of Trade Union,
(b) Lay-off, _
() Referencé of Disputé,
(d) Closure.
List I1

(i) Tatanager Foundary Co. Ltd.
- Vs Their Workmen |

(i) The General Secretary,
Rourkela Sramik Sangh Vs.
Rourkela Majdoor Sabha and

others

(iii) Maharashtra General Kamgai'
Union Vs. Glass Containers
Pvt. Ltd. and other

(iv) Sarva Shramik Sangh Vs.
Indian Qil Corporation

Codes :

@ & ©© @
A @ O @ @D
® 6 G GG
© Gy G @ G
D) @ G @G @)

Law-II
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70. The term “Industry” as per Section
2(J) of the Industrial Disputes Act -

1.

72.

does not include :
(A) Trade

(B) Systematic activity carried on
by cooperation between the
Employers

(C) Industrial occupation
(D) Domestic services |

Which of the following thinkers said
“Administrative law is a study of the
pathology of pdwers in a developing
society”. He lays special stress on
the protection of little man from the
arbitrary exercise of public power :

(A) Sir Ivor Jennings
(B) Prof. A. V. Dicey .
(C) Prof. Upendra Baxi
(D) Edward Coke

Under whose Chairmanship the
Administrative Reforms Commission

in 1966 recommended two-tier set-

up of Lokpal at the centre and a
Lokayukta in each state ?

(A) Shri K. Kamraj

(B) Shri V.V. Giri
(C) Smt. Indira Gandhi
(D) Shri Morarji Desai

Law-11
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73.

74.

75.

It is a principle of fundamental -

importance that justice should not

only be done, but should manifestly
and undoubtedly be seen to be done.
Who ‘said this ?

(A) Lord Hewart
(B) Lord Acton
(C) Lord Diplock

. (D) Lord Halsbury

The Lokpal and Lok Ayuktas Act

was enacted in the year :
(A) 2014
(B) 2013

(©) 2012

(D) 2011

Natural justice represents higher
procedural principles developed by
................ which every administrative
égency must follow when taking any
action adversely affecting the rights

of privaté individuals.
(A) Statute -

(B) Dharmash#stra |
(C) Judges

(D) Smritis

" Law-I1
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76.

Which of the following statements

‘are true In relation to judicial

control on exercise of administrative

discretion ?

(1) The authority is deemed not to
have exercise its discretion at
all

(2) The authority has not exercised

its discretion properly

There is an excess or abuse of

3)

discretion

Exercise of discretion is fair and

(4)
nowhere affect rights of the
parties

Codes -
(A) (1), (2), _(3) are incorrect

(B) only (1), (2) are correct

. (Cj only (2), (3) are .correct

(D) only (1), (2), (3) are correct

Justice is dispensed with according
to the principle of proportionate
equality, it is to be referred as :

(A) Distributive justice
(B) Correctional justice
(C) Natural justice

(D) Remedial justice

: L'aw—III
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78.

79.

80.

Which writs can be issued in
Administrative matters ?

(A) Certiorari
(B} Quo Warranto and Certiorari
(C) Habeas Corpus

(D) Certiorari, Quo Warranto and
Mandamus

The polluter pays principle has

been incorporated in which

principle of the Rio Declaration on

Environment and Development.
(A) Principle 15
(B) Principle 16
(C) Principle 8
(D) Principle 27

Under the Water (Prevention and
Control of Pollution) Act, an order
restraining from discharging
effluent until a water treatment
plant is constructed can be passed
by :

(A) a magistrate

(B) a Judge of a special court
constituted for this purpose

(C) High Court Judge
(D) a Judge of the Supreme Court

Law-—I1
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81.

- 82.

Law-11

In which one of the following cases
the principle of public trust for
protection

ecological was

propounded ?

(A) Ratlam Municipal Corporation
Vs. Verdhichand

(B) M.C. Mehta Vs. Kamalnath

(C) Union Carbide Vs. Union of
India

(D) Vellore Citizen Forum Vs.

Union of India

Which one of the following is the
major public interest environmental

case relating to limestone quarrying
in Dehradun valley ? '

(A) M.C. Mehta Vs. Kamalnath

(B) Rural Litigation Entitlement
Ken_dra Vs. State of U.P.

(C) Sachidanand Pandey Vs. State

of West Bengal

(D) Pradeep Krishen Vs. Union of

India
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83. One of the following cases is

popularly known as Doon Valley

case :
{A) M.C. Mehta Vs. Kamalnath

(B} Rural Litigation Entitlement

Kendra Vs. State of U.P.
(C) Kinkri Devi Vs. State of H.P.

(D) Susetha Vs. State of TN

. When there is an environmental

" harm notably committed by one

country on the other, | the
apprqpriate Intemafional forum
for jurisdiction is the International
Court of Justice. In such a case who

has the locus standi to sue ?

(A) Non-Governmental organisations
(B) Environmental bodieé

(C) Country

(D) Citizen

Law-II -
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~ 85. The sample taking procedure is

under which section of the Water

{Prevention and Control of

Pollution) Act ?
(A) Section 21
(B) Section 43
(C) Section 25
(D) Section 26

N Right of Gender eqﬁélity and
guarantee  against
harassment has been récognised by
the Supreme Court of India in one

of the following cases :
(A) Vishaka Vs. State of Rajasthan

(B) Apparel Promotion Council

~ Case
(C) Both (A) and (B)

(D) 8.Jaganath Vs. Union of India

Law-II
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Law-II

87. . Select the correct answer using the
codes given below : |
The National Human Rights

Commission shall :
(1) Intervene in any proceeding
involving any allegation of

violations of Human Rights

pending before a court with the

approval of the court.

(2) Visit any Jail or any other

institution under the control of -

state government.

(3) Intervene in any proceedings

involving any allegations of

violations of Human Rights
pending before a court without

the approval of the court. |

4) Underfake and promote

research in the field of Human
Rights.

Codes : _

(A) (1) and (2) alone are correct

(B) (3) and (4) alone are correct

(C) (1), (2) and (4) alone are correct

(D) (1) and (4) alone are correct

41

87. QA Sisl ML s3I WAL el

wie 531 :
ANY Histe RS2 Yo QA 518
59 : |

1) 51S veladui udal wuMR{a
weld RS el Baun
A eldasl »qufadl ewadllil
s3 W 9.

(2) UBY AL Ssa-L LlSuR
s1atA waAAl Ay ALl
ylsid Adl.

3) sidua eraddl AoARld wdan

weasBsiy oianl siivadl
sisua wGEai 4 ~waudl
siguld a2 swa 53 ud.

4 yiauiAsiz-l Saxl dagn
Muldd s ud 9.

sis :

@A) @ A (@ W WA B
(B) (3) A (4) WA WA D
(©) A (1), (2) ¥\ @) W B

@ WA (D) 2 () v B
| [P.T.0.]



88. In which one of the following cases

the Supreme Court of India has

stated that constitutional inter-

pretation in India has been strongly

influenced by the UDHR ?

(A) Chairman, Railway Board V.
‘Mrs. Chindrima Das

(B) Jolly George Varghese Vs.

" Bank of Cochin

(C) Kesavananda Bharati Vs. State
of Kerala

(D) Kishore Chand Vs. State of
Himachal Pradesh

. “There are two dimensions of

Human Rights. One can be called

. negative freedom in the sense it is

less significant and such freedom is

based on a bedrock of what cannot

be done, rather than what can be

- done.”

The above is from the words of :

(A) P.N. Bhagwati

(B) Kofi Annan

(C) M.N. Venkatachaliah

(D) Amartya Sen

L&W—II
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90. Match List I containing Human  90. *u-ta»(fasidl auadl wel 1 s

Rights and List II containing WA wdBis diven Aqeildd
related Articles of Universal 2irxdel wtadl wel 11 Avildl. sisHl
Declaration of Human Rights, using w530 WAl gt wde sA

the codes given below :
ugl 1

List 1

(@ uBls wdady

(@) Freedom of Religion ' :
b) Basda-dl =R
() Right to Own Property

' © Mdi-l 2RH2
(¢) Right to Privacy

@ @dadl A Ala-l yreudl
(d) Right to Liberty and Security

of Person A8
List II wel 1
() Article 9 @ A 9
@) Article 12 () Agase 12
(iii) Article 18 () Vg3 18
(iv) Article 17 (i) Mgxde 17
Codes : £S :

@ ®» © @ @ ®» © @
W) G @ @ O @A) G @) G 6
B @ G G G ® G G @) @)
©) @ G O ) © G G O G
O @ @ @ O O @) G @) 6
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91. Select the correct answer using the

codes given below :

The Rights
constituted under Section 30 of the
Act by the State Government for
speedy trial of offences arising out

of violations of Human Right does

Human Court

not have power if :

(1) The High Court has directed
the Government to refer such

cases to High Court.

(2) A Court of Session is already
specified as a Special Court.

(3) A Special Court is constituted

already by a notification.

(4) A Court of Session is prepared
to hear the case as a special

case.
Codes :
(A) (2) and (3) are correcf
(B) (1) and (4) are correct
(C) (2) and (4) are correct

D) (1), (2), (3) and (4) are correct

Law-]]
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92.

93.

94.

The solidarity rights, more
commonly known as “Third
Generation Human Rights” is based
on :

(A) Common Heritage of Mankind
(B) Concept of Universalism

(C) Independent needs of people
(D) Right to self-determination
‘Partnership Agreement’ :

(A) Must be in writing

(B) May be oral

(C) May be expressed or implied
(D) Must be registered

Read the following statements :
() A minor can be made a partner

with the consent of all the
partners.

(ii) A minor can be admitted to the

benefits of partnership firm with

the consent of all the partners.

(iti) A minor’s share is liable for the
acts of the firm.

(fv) A minor is not personally liable
for the acts of the firm.

Select the correct answer using the
codes given below :

(A) (i), (i) and (iti) are correct
(B) (i), (iti) and (iv) are correct
(C) (i), (i) and (fv) are correct

(D) (i) and (iii) are correct

Law-I1
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95.

97.

- (C) (@)

SAIL has the ob;iect of producing
and selling Iron and Steel. It cannot
produce :

(A) Pig iron
(B) Iron ingots

_ {C) Cement sheets

(D) Iron sheets

Which of the following in itself is

not sufficient to constitute a

partnership ? |

(A} The sharing of profit by persons
having a joint common interest

(B) The receipt by a person of a
share of the profits

(C) The receipt by a person of a
payment varying with the
profits earned by a business

(D) All of the above

Arrange the following concepts in

sequence in which they appeared.
Use the codes given below :

@) Right of an unpaid seller
(&x) Condition and warranty
(i) Agreement of sell

(iv) Damage for breach of contract
for ssale

Codes :
(A) @)
B) @)

Y
(iv)
(iv)
(iv)

(&)
(iz)
@®

()

(i)
(i)
U3
(i)

D ©
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98.

99.

100.

Law-I1

While determining whether a

stipulation is a condition or a

warranty :

(A) The terms of the contract is

- conclusive

(B) The real effect to the stipulation

is conclusive

(Cj The nomenclature used by the

parties is conclusive’
(D) All of the above -

The right to re-sell of goods by an
unpaid seller can be exercised, in
respect of the goods which are :

(A) Of a perishable nature

(B) Of non-perishable nature

(C) Either of a perishable or non-
perishable nature

(D) None of ‘the above
A cheque is :

(A) a Promissory Note
(B) a Hundi

(C) a Bond

(D) a Bill of Exchange
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